Results & Stats for Intermediate Level Modules

Mean Median St. Dev. Max Min 1st 2:1 2:2 3rd Comp. Pass Fail Incomplete*| Totals

COMO000111 0 0 0 0 0 0 1 1
COMO000151 78 78 78 78 1 0 0 0 0 0 0 1
COMO000171 | 68.6732394 70 15.1404065 97 0 187 93 45 19 5 6 15 370
COMO00018I | 68.8404558 71 15.0639651 96 0 193 97 43 7 0 11 21 372
COMO000191 | 71.2592593 74 12.702464 91 0 240 83 8 6 1 13 21 372
COMO00020!1 | 71.0127226 72 13.1726115 95 0 225 111 40 12 1 3 19 411
COMO000211 | 64.6062323 66 14.9101729 95 0 137 114 58 34 1 8 18 370
COMO00022 | 71.3290816 73 15.7270962 98 0 242 84 38 13 3 12 22 414
COMO00023I | 64.2911392 64 18.9726974 99 0 148 107 80 36 8 15 19 413
COMO00024l | 65.8984375 67 13.1219465 920 0 160 123 68 18 4 10 28 411
COMO00025! | 58.2794872 58 22.1335358 100 0 118 69 84 73 18 27 25 414

Totals: | 67.0835067 69 16.4989959 100 0 1,651 881 464 218 41 105 189 3549
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“Incomplete includes the following grades: SU, SD, WD, TR, LA, NA, MI, MD, VR, and where no grade is entered.

Classification Percentage for: COM00011!

2

"

Ayr Code
20201
W 202172

Percentage Students per Academic Year

Incomplete
Classification




Classification Percentage for: COM00015!

120

2
g8

o
g

@
E

Percentage Students per Academic Year

Ayr Code
m 202172
40
20
[
ist
Classification
Classification Percentage for: COM000171
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